


Задачи 34



m (NaOH) = 240 г* 0,1 = 24 г
n (NaOH) = 24 г : 40г/моль = 0,6 моль
n (газов) = 13,44 л : 22,4 л/моль = 0,6 моль
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m (ZnCl2) = 408 г* 0,1 = 40,8 г
n (ZnCl2) = 40,8г : 136 г/моль = 0,3 моль
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• m (NaOH)ост = 40 г* 0,4 моль = 16 г
• m кон.р-ра  = 240 – 1,8 – 6,4 + 23 + 408 = 662,8 г 
• m (H2) всего = 0,9 моль  * 2 г/моль = 1,8 г
• m (О2) всего = 0,2 моль  * 32 г/моль = 6,4 г
• W (NaOH) = 16 : 662,8 = 0,0241 = 2,41%



n (Mg(NO3)2) = 44,4 г : 148г/моль = 0,3 моль
n (газов) = 13,44 л : 22,4 л/моль = 0,6 моль
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m (MgO) = 40 г* 0,24 моль = 9,6 г
m (Mg(NO3)2) = 0,06 моль* 148 г/моль = 8,88 г
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m (HCl) = 124,1 г* 0,2 = 24,82 г
n (НCl) = 24,82г : 36,5 г/моль = 0,68 моль
m (HCl) ост = 36,5 * 0,2 = 7,3 г

0,24 0,48
0 0,2

m кон.р-ра  = 124,1 + 8,8 8 + 9,6 = 142,58 г 

W (HCl) = 7,3 : 142,58 = 0,0512 = 5,12%



m (ZnSO4) исх= 483 г* 0,2 = 96,6 г
n (ZnSO4) исх = 96,6 г : 161г/моль = 0,6 моль
m (KOH) исх = 224 г * 0,4 = 89,6 г
n (KOH) исх = 89,6 : 56 = 1,6 моль



m р-ра кон. =  m р-ра  нач + m Mg прореаг.  - m Zn 
обр
20,5 = m Zn обр – m Mg прореаг.
20,5 = 65 Х – 24Х
41х = 20,5
Х = 0,5 моль
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m (Mg(OH)2)  = 58 * 0,5 = 29 г
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• m (KOH)ост = 56* 0,2 = 11,2 г
• m кон.р-ра  = 483 – 20,5 + 224 - 29 = 657,5 г 
• W (KOH) = 11,2 : 657,5 = 0,0170 = 1,7%



m (FeSO4) исх= 532 г* 0,2 = 106,4 г
n (FeSO4) исх = 106,4 г : 152г/моль = 0,7 моль
n (Zn)  = 117 : 65 = 1,8 моль
m (NaOH) исх = 280 г * 0,4 = 112 г
n (NaOH) исх = 112/40 = 2,8 моль



m см. Ме. кон. =  m см. Ме. исх. нач - m Zn прореаг.  + m Fe обр
113,4 = 117 - 65 Х + 56Х
3,6 = 9х
Х = 0,4 моль
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m (Fe(OH)2)  = 90 * 0,3= 27г
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• m (NaOH)ост = 40* 0,6 = 24 г
• m кон.р-ра  = 532 + 26  - 22,4 + 280 -  27 = 788,6 г 
• W (NaOH) = 24 : 788,6 = 0,0304 = 3,04%




